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[AGR207] Ã‚Â Ã‚Â The number of DNA fragments depend upon at least three features 
exceptÃ¢â‚¬Â¦Ã¢â‚¬Â¦
Genetic locus

[AGR207] Ã¢â‚¬Â¦Ã¢â‚¬Â¦Ã¢â‚¬Â¦Ã¢â‚¬Â¦..is used to describe a group of cells found 
together in the body.
Tissue

[AGR207] Another name for zygote is Ã¢â‚¬Â¦Ã¢â‚¬Â¦Ã¢â‚¬Â¦.
Fertilized egg

[AGR207] Ejaculation discharges the semen from the Ã¢â‚¬Â¦Ã¢â‚¬Â¦Ã¢â‚¬Â¦.
Erect penis

[AGR207] Ã¢â‚¬Â¦Ã¢â‚¬Â¦Ã¢â‚¬Â¦Ã¢â‚¬Â¦..is excitable, responding to stimulation and 
contracting to provide movement.
Muscle tissue

[AGR207] After fertilization the zygote gives rise to rapidÃ¢â‚¬Â¦Ã¢â‚¬Â¦Ã¢â‚¬Â¦ cycles
Mitotic

[AGR207] A dog breeding season usually has Ã¢â‚¬Â¦Ã¢â‚¬Â¦Ã¢â‚¬Â¦Ã¢â‚¬Â¦..
2-3 seasons per year

[AGR207] Although there are many types of cells in the human body, they are 
organized into the following four broad categories of tissues EXCEPTÃ¢â‚¬Â¦Ã¢â‚¬Â¦
Cellular

[AGR207] Which of these options is not motifs of DNA binding proteins?
Hemoglobin zippers

[AGR207] Ã‚Â Which of the following options is not MendelÃ¢â‚¬â„¢s Laws
Law of dependence
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